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Test   2 
 
  
 

1.  1 byte (1B)  má kolik bitů? 

 Doplň následující údaje. 

 

2. 470 MB =   B 

3. 3000B =   kB 

4. 1TB  =  MB  

5. 2GB  =  MB 

6. 3,7MB =  B 

7. 85MB  =  kB  

 

 

8. 1GHz    =  Hz 

9. 800MHz   =  Hz 

10. 3 600 000Hz  =  MHz 

   

 

  



Správné řešení 
 
  
 

1.  1 byte (1B)  má kolik bitů?    8 bitů  

2. 470 MB =  470000000 B 

3. 3000B =  3 kB 

4. 1TB  = 1000000 MB  

5. 2GB  = 2000 MB 

6. 3,7MB = 3700000 B 

7. 85MB  = 85000 kB  

8. 1GHz    = 1000000000 Hz 

9. 800MHz   = 800000000 Hz 

10. 3 600 000Hz  = 3,6  MHz 

 


